112& < & > AAEEHFEHL 2RI

==> R6

#1: 5 Bk EIE(82.65) #2: 6 =-¥E(TS. 92) #3: 1 BE[R(66.64)

1 NS: Pdst 8 5EGE0) 1 7 NS: BRE# BEREIS(BAC) -9 13.45 : 6.55 Total VP: 66.64 Rank:
EW: MiERIEY FissfEEAC) 9 EW: BAtE 4 Ri5E5(BRO) -1 IMP:| 12 : 3 3
S ————————————
# 17 # 85 1NN1 90 Mean: 2SS2 110 1.0 4 ||# 18 » K862 2SE2 -110 Mean: 3SE-2 100 60 1
v QJ64 1NN2120 90  2NN2 120 1.0 1 v J8 2SE3 -140 -140  4Hs-1 4100 1.0 1
¢ JT87 Dif: -30 NS:0 1NN2 120 1.0 3 + K6 Dif: 30 NS:1  2SE2 110 1.0 2
» AQJ IMP: -1 EW:-1  1NN1 90 00 1 » K9743 IMP: 1 EW:0 3SE3 140 0.0 1
s T93 s Q72 3NN-1 50 40 1 ||s 53 & AQJT94 2SW3 140 0.0 1
v 953 v AKT8 v 96 I v QT7 2SE3 140 0.0 1
+ AK4 * Q52 ¢ AJ743 ¢ 852 4HS-2 200 20 1
& T532 & 986 & AQTS a8 3HXS-1 200 -2.0 1
% ¢V BN 4,AKJ64 FOVAN o7 3NN-4 400 6.0 1
N ~~~~~ v 72 N ~~~~~ v AK5432
S ~~~~~ ¢ 963 S ~~~~~ + QT9
E ~~~~~ & K74 E ~~~~~ & J62
W ~~~~~ W ~~~~~
# 19 & AQ97652 4SN4 420 Mean: 5CXE-4 1100 13.0 1 2HN3 140 Mean: 2HN4 170 10 4
v QT62 4SN-1-50 210  4SN4 420 50 1 2HN3 140 140  2HN3 140 00 3
«AJ Dif: 470 NS:5 3NS3 400 50 1 Dif: 0 NS:0 2HN2 110 1.0 3
: EW:6 3CXE-1 200 00 1 IMP: 0 EW:0
3SN3 140 20 1 a A7532
2SN2 110 3.0 1 vs8
4SN-1 50 60 2 ¢ AT54
3SN-1 50 60 1 » QJ6
4SXN-1 4100 7.0 1
# 21 & K9543 5CN6 620 Mean: 6SN6 1430 120 1 # 22 s T832 4SN5 450 Mean: 5SS5 450 1.0 1
vJ 4SN6 680 800 6CN6 1370 11.0 1 v AT4 4SN4 420 430 4SS5 450 1.0 1
Dif: -60 NS:-5 5SS6 680 -3.0 1 *5 Dif: 30 NS:1 4SN5 450 1.0 2
& AQJT764 IMP: -2 EW:3 5SN6 680 -3.0 1 & A8542 IMP: 1 EW:0 4ss4 420 0.0 2
& A6 a T72 4SN6 680 -3.0 2 ||as 54 s Q7 4SN4 420 0.0 4
v QT973 v K854 5CN6 620 5.0 4 ||v K986 — v Q
¢ K9864 * AQ2 ¢ T843 * AKJ972
8 & 532 & KJT » Q976
d*¢VAN 4QJ8 % ¢ VAN 4 AKJ9
N ~~~~~ v A62 N ~~~~~ v J7532
§ ~~~~~ ¢ JT753 S ~~~~~ + Q6
E ~~~~~ & K9 E ~~~~~ &3
W ~~~~~ W ~~~~~
# 23 » Q953 3DW4 -130 Mean: 5CE-2 200 7.0 1 ||#24 » QJ8 4SE4 -420 Mean: 4SW4 420 00 5
v KQ752 3DW4 -130 -100  3SS3 140 6.0 1 v T8763 4SW4 -420 -430 4SE4 420 0.0 1
¢ J83 Dif: 0 NS:-1 2SS3 140 6.0 1 * K4 Dif: 0 NS:0 4SW5 450 1.0 3
&2 IMP: 0 EW:1 5DW-1 100 50 1 & K85 IMP: 0 EW:0 4SE5 450 1.0 1
a4 ~ J87 48S-1 <100 0.0 1 & KT76543 a A9
v A98 + v T43 3DW4 4130 1.0 3 ||v A%4 v KQ2
¢ AKT972 * Q4 5SXS-2 -500 -9.0 1 5 ¢ AQT963
& AT9 S » KJ753 5DW6 620 -11.0 1 Q2 aJT
% ¢ VAN 4, AKT62 oI VAN 42
N ~~~~~ v J6 N ~~~~~ v J5
S ~~~~~ + 65 S ~~~~~ ¢ J872
E ~~~~~ & Q864 E ~~~~~ & A97643
W ~~~~~ W ~~~~~




112& < & > AAEEHFEHL 2RI

==> R6

#1: 5 Bk EIE(82.65) #2: 6 =-¥E(TS. 92) #3: 1 BE[R(66.64)

2 NS: # S SHREGHO) -1 9 NS: SRS 3RIZRA(PAC) -14 11.27 : 8.73 | Total VP: 52.87 Rank:
EW: BlEZ B2 EEIC0) 14 EW: EI78 EHE(BO) 11 IMP:} 11 : 8 8
S ———————————
# 17 # 85 2SS2 110 Mean: 2SS2 110 1.0 4 ||# 18 » K862 3SE3 -140 Mean: 3SE-2 100 60 1
v QJ64 1NN2120 90  2NN2 120 1.0 1 v J8 3HXS-1-200 -140  4HS-1 4100 1.0 1
¢ JT87 Dif: 10 NS:1  1NN2 120 1.0 3 + K6 Dif: 60 NS:0 2SE2 110 1.0 2
» AQJ IMP: 0 EW:-1 1NN1 90 00 1 » K9743 IMP: 2 EW:2 3SE3 140 0.0 1
s T93 s Q72 3NN-1 50 40 1 ||s 53 & AQJT94 2SW3 140 0.0 1
v 953 v AKT8 v 96 I v QT7 2SE3 140 0.0 1
+ AK4 * Q52 * AJ743 ¢ 852 4HS-2 200 20 1
& T532 & 986 & AQTS a8 3HXS-1 200 -2.0 1
% ¢V BN 4,AKJ64 FOVAN o7 3NN-4 400 6.0 1
N ~~~~~ v 72 N ~~~~~ v AK5432
S ~~~~~ ¢ 963 S ~~~~~ + QT9
E ~~~~~ & K74 E ~~~~~ & J62
W ~~~~~ W ~~~~~
# 19 » AQ97652 3SN-1-50 Mean: 5CXE-4 1100 13.0 1 2HN4 170 Mean: 2HN4 170 10 4
v QT62 3SN3 140 210  4SN4 420 50 1 2HN4 170 140  2HN3 140 00 3
«AJ Dif: -190 NS:-6 3NS3 400 50 1 Dif: 0 NS:1 2HN2 110 1.0 3
: EW:2 3CXE-1 200 00 1 IMP: 0 EW:-1
3SN3 140 20 1 a A7532
2SN2 110 -3.0 1 v8
4SN-1 50 60 2 + AT54
3SN-1 50 6.0 1 » QJ6
4SXN-1 4100 7.0 1
# 21 & K9543 5CN6 620 Mean: 6SN6 1430 120 1 # 22 s T832 4SS4 420 Mean: 5SS5 450 1.0 1
vJ 4SN6 680 800 6CN6 1370 11.0 1 v AT4 5SS5450 430 4SS5 450 1.0 1
Dif: -60 NS:-5 5SS6 680 -3.0 1 *5 Dif: -30 NS:0 4SN5 450 1.0 2
& AQJT764 IMP: -2 EW:3 5SN6 680 -3.0 1 & A8542 IMP: -1 EW:-1 4SS4 420 0.0 2
s A6 a T72 4SN6 680 -3.0 2 ||as 54 » Q7 4SN4 420 0.0 4
v QT973 v K854 5CN6 620 5.0 4 ||v K986 — v Q
¢ K9864 * AQ2 ¢ T843 * AKJ972
8 & 532 & KJT » Q976
*¢VAN ,QJ8 % ¢ VAN 4 AKJ9
N ~~~~~ v A62 N ~~~~~ v J7532
S ~~~~~ ¢ JT753 S ~~~~~ + Q6
E ~~~~~ & K9 E ~~~~~ &3
W ~~~~~ W ~~~~~
# 23 » Q953 3DW4 -130 Mean: 5CE-2 200 7.0 1 ||#24 » QJ8 4SE5 -450 Mean: 4SW4 420 00 5
v KQ752 5SXS-2 -500 -100 3SS3 140 6.0 1 v T8763 4SW5 -450 -430 4SE4 420 0.0 1
¢ J83 Dif: 370 NS:-1 2SS3 140 6.0 1 * K4 Dif: 0 NS:-1 4SW5 450 1.0 3
&2 IMP: 9 EW:9 5DW-1 100 50 1 & K85 IMP: 0 EW:1 4SE5 450 1.0 1
a4 ~ J87 48S-1 <100 0.0 1 & KT76543 a A9
v A98 + v T43 3DW4 4130 1.0 3 ||v A%4 v KQ2
¢ AKT972 * Q4 5SXS-2 -500 -9.0 1 5 ¢ AQT963
& AT9 S » KJ753 5DW6 620 -11.0 1 Q2 aJT
% ¢ VAN 4, AKT62 o OVABN 42
N ~~~~~ v J6 N ~~~~~ v J5
S ~~~~~ + 65 S ~~~~~ ¢ J872
E ~~~~~ & Q864 E ~~~~~ & A97643
W ~~~~~ W ~~~~~




112& < & > AAEEHFEHL 2RI

==> R6

#1: 5 Bk EIE(82.65) #2: 6 =-¥E(TS. 92) #3: 1 BE[R(66.64)

3 NS: #F{— & BESF R (BHO) -6 6 NS: BREEZE HIRE(BAC) 9 5.61 14.39| Total VP: 62.14 Rank:
EW: I35 B EAC) -9 EW: ¥ 518 #1A7Z(BA0O) 6 IMP:| 6 18 5
I
# 17 # 85 2NN2 120 Mean: 2SS2 110 1.0 4 ||# 18 » K862 3NN-4 -400 Mean: 3SE-2 100 60 1
v QJ64 1NN2120 90  2NN2 120 1.0 1 v J8 2SW3 -140 -140  4HS-1 4100 1.0 1
¢ JT87 Dif: 0 NS:1 1NN2 120 1.0 3 + K6 Dif: -260 NS:-6 2SE2 110 1.0 2
» AQJ IMP: 0 EW:-1 1NN1 90 00 1 » K9743 IMP: -6 EW:0 3SE3 140 0.0 1
s T93 s Q72 3NN-1 50 40 1 ||s 53 & AQJT94 2SW3 140 0.0 1
v 953 v AKT8 v 96 I v QT7 2SE3 140 0.0 1
+ AK4 * Q52 ¢ AJ743 ¢ 852 4HS-2 200 20 1
& T532 & 986 & AQTS a8 3HXS-1 200 -2.0 1
% ¢V BN 4,AKJ64 FOVAN o7 3NN-4 400 6.0 1
N ~~~~~ v 72 N ~~~~~ v AK5432
S ~~~~~ ¢ 963 S ~~~~~ + QT9
E ~~~~~ & K74 E ~~~~~ & J62
W ~~~~~ W ~~~~~
# 19 & AQ97652 2SN2 110 Mean: 5CXE-4 1100 13.0 1 [|# 20 » QT4 2HN2 110 Mean: 2HN4 170 10 4
v QT62 4SN-1-50 210  4SN4 420 50 1 v AKJT7 2HN2 110 140  2HN3 140 00 3
*AJ Dif: 160 NS:-3 3NS3 400 50 1 ¢ 83 Dif: 0 NS:-1 2HN2 110 1.0 3
:4 EW:6 3CXE-1 200 00 1 & K72 IMP: 0 EW:1
3SN3 140 20 1 a A7532
2SN2 110 3.0 1 + vs8
4SN-1 50 60 2 ¢ AT54
3SN-1 50 60 1 » QJ6
4SXN-1 4100 7.0 1 » K98
v 642
+ Q97
& AT43
# 21 & K9543 55S6 680 Mean: 6SN6 1430 12.0 1 ||# 22 s T832 4SN4 420 Mean: 5SS5 450 1.0 1
vJ 6CN6 1370 800  6CN6 1370 11.0 1 v AT4 4SN4 420 430 4SS5 450 1.0 1
Dif: -690 NS:-3 5SS6 680 -3.0 1 *5 Dif: 0 NS:0 4SN5 450 1.0 2
& AQJT764 IMP: -12 EW:-11 5SN6 680 -3.0 1 & A8542 IMP: 0 EW:0 4Ss4 420 0.0 2
& A6 a T72 4SN6 680 -3.0 2 ||as 54 s Q7 4SN4 420 0.0 4
v QT973 v K854 5CN6 620 5.0 4 ||v K986 — v Q
¢ K9864 * AQ2 ¢ T843 * AKJ972
8 & 532 & KJT » Q976
d*¢VAN 4QJ8 % ¢ VAN 4 AKJ9
N ~~~~~ v A62 N ~~~~~ v J7532
§ ~~~~~ ¢ JT753 S ~~~~~ + Q6
E ~~~~~ & K9 E ~~~~~ &3
W ~~~~~ W ~~~~~
# 23 » Q953 3SS3 140 Mean: 5CE-2 200 7.0 1 ||#24 » QJ8 4SW4 -420 Mean: 4SW4 420 00 5
v KQ752 5DW-1100 -100 3SS3 140 6.0 1 v T8763 4SW5 -450 -430 4SE4 420 0.0 1
¢ J83 Dif: 40 NS:6 2SS3 140 6.0 1 * K4 Dif: 30 NS:0 4SW5 450 1.0 3
&2 IMP: 1 EW:-5 5DW-1 100 50 1 & K85 IMP: 1 EW:1 4SE5 450 1.0 1
a4 ~ J87 48S-1 <100 0.0 1 & KT76543 a A9
v A98 + v T43 3DW4 4130 1.0 3 ||v A%4 v KQ2
¢ AKT972 * Q4 5SXS-2 -500 -9.0 1 5 ¢ AQT963
& AT9 S » KJ753 5DW6 620 -11.0 1 Q2 aJT
% ¢ VAN 4, AKT62 oI VAN 42
N ~~~~~ v J6 N ~~~~~ v J5
S ~~~~~ + 65 S ~~~~~ ¢ J872
E ~~~~~ & Q864 E ~~~~~ & A97643
W ~~~~~ W ~~~~~




112& < & > AAEEHFEHL 2RI

==> R6

#1: 5 Bk EIE(82.65) #2: 6 =-¥E(TS. 92) #3: 1 BE[R(66.64)

4 NS: B #EEGH0) -8 10 NS: 81818 SX#(BAC) 17 2.50 17.50 | Total VP: 40.32 Rank:
EW: 8% BFRSEEAC) -17 EW: REH EX5E(BAO) 8 IMP:| 4 29 9
I
# 17 # 85 3NN-1-50 Mean: 2SS2 110 1.0 4 ||# 18 » K862 4HS-2 -200 Mean: 3SE-2 100 60 1
v QJ64 2SS2110 90  2NN2 120 1.0 1 v J8 4HS-1-100 -140  4HS-1 4100 1.0 1
¢ JT87 Dif: -160 NS:-4 1NN2 120 1.0 3 + K6 Dif: -100 NS:-2 2SE2 110 1.0 2
» AQJ IMP: -4 EW:-1  1NN1 90 00 1 » K9743 IMP: -3 EW:-1 3SE3 140 0.0 1
s T93 s Q72 3NN-1 50 40 1 ||s 53 & AQJT94 2SW3 140 0.0 1
v 953 v AKT8 v 96 I v QT7 2SE3 140 0.0 1
+ AK4 * Q52 ¢ AJ743 ¢ 852 4HS-2 200 20 1
& T532 & 986 & AQTS a8 3HXS-1 200 -2.0 1
% ¢V BN 4,AKJ64 FOVAN o7 3NN-4 400 6.0 1
N ~~~~~ v 72 N ~~~~~ v AK5432
S ~~~~~ ¢ 963 S ~~~~~ + QT9
E ~~~~~ & K74 E ~~~~~ & J62
W ~~~~~ W ~~~~~
# 19 & AQ97652 3CXE-1200 Mean: 5CXE-4 1100 13.0 1 ||# 20 » QT4 2HN4 170 Mean: 2HN4 170 10 4
v QT62 5CXE-4 1100 210  4SN4 420 50 1 v AKJT7 2HN2 110 140  2HN3 140 00 3
*AJ Dif: -900 NS:0 3NS3 400 50 1 ¢ 83 Dif: 60 NS:1  2HN2 110 1.0 3
IMP: -14 EW:-13 3CXE-1 200 00 1 & K72 IMP: 2 EW:1
3SN3 140 20 1 a A7532
2SN2 110 3.0 1 + vs8
7 4SN-1 50 60 2 ¢ AT54
T9875 3SN-1 50 6.0 1 » QJ6
4SXN-1 4100 7.0 1 » K98
v 642
+ Q97
& AT43
# 21 & K9543 5SN6 680 Mean: 6SN6 1430 12.0 1 ||# 22 s T832 4SS4 420 Mean: 5SS5 450 1.0 1
vJ 5CN6 620 800 6CN6 1370 11.0 1 v AT4 4SN5450 430 4SS5 450 1.0 1
3 Dif: 60 NS:-3 5SS6 680 -3.0 1 *5 Dif: -30 NS:0 4SN5 450 1.0 2
& AQJT764 IMP: 2 EW:5 5SN6 680 -3.0 1 & A8542 IMP: -1 EW:-1 4SS4 420 0.0 2
& A6 a T72 4SN6 680 -3.0 2 ||as 54 s Q7 4SN4 420 0.0 4
v QT973 v K854 5CN6 620 5.0 4 ||v K986 — v Q
¢ K9864 * AQ2 ¢ T843 * AKJ972
8 & 532 & KJT » Q976
d*¢VAN 4QJ8 % ¢ VAN 4 AKJ9
N ~~~~~ v A62 N ~~~~~ v J7532
§ ~~~~~ ¢ JT753 S ~~~~~ + Q6
E ~~~~~ & K9 E ~~~~~ &3
W ~~~~~ W ~~~~~
# 23 » Q953 4SS-1-100 Mean: 5CE-2 200 7.0 1 ||#24 » QJ8 4SW4 -420 Mean: 4SW4 420 00 5
v KQ752 5CE-2200 -100 3SS3 140 6.0 1 v T8763 4SW4 -420 -430 4SE4 420 0.0 1
¢ J83 Dif: -300 NS:0 2SS3 140 6.0 1 * K4 Dif: 0 NS:0 4SW5 450 1.0 3
&2 IMP: -7 EW:-7 5DW-1 100 50 1 & K85 IMP: 0 EW:0 4SE5 450 1.0 1
a4 ~ J87 48S-1 <100 0.0 1 & KT76543 a A9
v A98 + v T43 3DW4 4130 1.0 3 ||v A%4 v KQ2
¢ AKT972 * Q4 5SXS-2 -500 -9.0 1 5 ¢ AQT963
& AT9 S » KJ753 5DW6 620 -11.0 1 Q2 aJT
% ¢ VAN 4, AKT62 oI VAN 42
N ~~~~~ v J6 N ~~~~~ v J5
S ~~~~~ + 65 S ~~~~~ ¢ J872
E ~~~~~ & Q864 E ~~~~~ & A97643
W ~~~~~ W ~~~~~




112& < & > AAEEHFEHL 2RI

==> R6

#1: 5 ﬁk’rﬁ%lﬁlé(ézz 65) #2: 6 E3E(T8. 92) #3: 1 BE[R(66.64)

5 NS: BRZEER) BRREEGHO) 14 8 S: 2125 REIE(EAC) -4 15.75 : 4.25 Total VP: 82.65 Rank:
EW: BE&RE HZZZEAC) 4 EW: &g REB(BRO) -1 IMP:| 31 : 14 1
S —————————————
# 17 85 2SS2 110 Mean: 2SS2 110 1.0 4 [[# 18 » K862 3SE-2 100 Mean: 3SE-2 100 6.0 1
v QJ64 2SS2110 90  2NN2 120 1.0 1 v J8 2SE2 -110 140  4Hs-1 4100 1.0 1
¢ JT87 Dif: 0 NS:1  1NN2 120 1.0 3 + K6 Dif: 210 NS:6 2SE2 110 1.0 2
» AQJ IMP: 0 EW:-1 1NN1 90 00 1 » K9743 IMP: 5 EW:-1 3SE3 140 0.0 1
s T93 s Q72 3NN-1 50 40 1 ||s 53 & AQJT94 2SW3 140 0.0 1
v 953 v AKT8 v 96 I v QT7 2SE3 140 0.0 1
+ AK4 * Q52 ¢ AJ743 ¢ 852 4HS-2 200 20 1
& T532 & 986 & AQTS a8 3HXS-1 200 -2.0 1
% ¢V BN 4,AKJ64 FOVAN o7 3NN-4 400 6.0 1
N ~~~~~ v 72 N ~~~~~ v AK5432
S ~~~~~ ¢ 963 S ~~~~~ + QT9
E ~~~~~ & K74 E ~~~~~ & J62
W ~~~~~ W ~~~~~
# 19 & AQ97652 3NS3 400 Mean: 5CXE-4 1100 13.0 1 2HN4 170 Mean: 2HN4 170 10 4
v QT62 4SXN-1-100 210  4SN4 420 50 1 2HN3 140 140  2HN3 140 00 3
«AJ Dif: 500 NS:5 3NS3 400 50 1 Dif: 30 NS:1  2HN2 110 1.0 3
IMP: 11 EW:7  3CXE-1 200 00 1 IMP: 1 EW:0
3SN3 140 20 1 a A7532
2SN2 110 -3.0 1 v8
7 4SN-1 50 60 2 ¢ AT54
T9875 3SN-1 50 6.0 1 » QJ6
4SXN-1 4100 7.0 1
# 21 & K9543 5CN6 620 Mean: 6SN6 1430 120 1 # 22 s T832 4SN4 420 Mean: 5SS5 450 1.0 1
vJ 6SN6 1430 800  6CN6 1370 11.0 1 v AT4 4SS5450 430 4SS5 450 1.0 1
Dif: -810 NS:-5 5SS6 680 -3.0 1 *5 Dif: -30 NS:0 4SN5 450 1.0 2
& AQJT764 IMP: -13 EW:-12 5SN6 680 -3.0 1 & A8542 IMP: -1 EW:-1 4SS4 420 0.0 2
s A6 a T72 4SN6 680 -3.0 2 ||as 54 s Q7 4SN4 420 0.0 4
v QT973 v K854 5CN6 620 5.0 4 ||v K986 — v Q
¢ K9864 * AQ2 ¢ T843 * AKJ972
8 & 532 & KJT » Q976
*¢VAN ,QJ8 % ¢ VAN 4 AKJ9
N ~~~~~ v A62 N ~~~~~ v J7532
§ ~~~~~ ¢ JT753 S ~~~~~ + Q6
E ~~~~~ & K9 E ~~~~~ &3
W ~~~~~ W ~~~~~
# 23 » Q953 2SS3 140 Mean: 5CE-2 200 7.0 1 ||#24 » QJ8 4SW4 -420 Mean: 4SW4 420 00 5
v KQ752 5DW6 -620 -100  3SS3 140 6.0 1 v T8763 4SW5 -450 -430 4SE4 420 0.0 1
¢ J83 Dif: 760 NS:6 2SS3 140 6.0 1 * K4 Dif: 30 NS:0 4SW5 450 1.0 3
»2 IMP: 13 EW:11 5DW-1 100 50 1 & K85 IMP: 1 EW:1 4SE5 450 1.0 1
a4 ~ J87 48S-1 <100 0.0 1 & KT76543 a A9
v A98 + v T43 3DW4 4130 1.0 3 ||v A%4 v KQ2
¢ AKT972 * Q4 5SXS-2 -500 -9.0 1 5 ¢ AQT963
& AT9 S » KJ753 5DW6 620 -11.0 1 Q2 aJT
% ¢ VAN 4, AKT62 oI VAN 42
N ~~~~~ v J6 N ~~~~~ v J5
S ~~~~~ + 65 S ~~~~~ ¢ J872
E ~~~~~ & Q864 E ~~~~~ & A97643
W ~~~~~ W ~ ~~~~




112& < & > AAEEHFEHL 2RI

==> R6

#1: 5 Bk EIE(82.65) #2: 6 =-¥E(TS. 92) #3: 1 BE[R(66.64)

6 NS: BrzE#E MM B EHC) 9 3 NS: #F{_E BRFR(BHO) -6 14.39 : 5.61 Total VP: 78.92 Rank:
EW: #F5t #-A03EH0) 6 EW: &liil55 BRiEER(BAC) -9 IMP:| 18 6 2
I
# 17 # 85 2NN2 -120 Mean: 2SS2 110 1.0 4 ||# 18 » K862 3NN-4 400 Mean: 3SE-2 100 60 1
v QJ64 1NN2 -120 90  2NN2 120 1.0 1 v J8 2SW3 140 -140  4HS-1 4100 1.0 1
¢ JT87 Dif: 0 NS:1 1NN2 120 1.0 3 + K6 Dif: 260 NS:0 2SE2 110 1.0 2
» AQJ IMP: 0 EW:-1 1NN1 90 00 1 » K9743 IMP: 6 EW:6 3SE3 140 0.0 1
s T93 s Q72 3NN-1 50 40 1 ||s 53 & AQJT94 2SW3 140 0.0 1
v 953 v AKT8 v 96 I v QT7 2SE3 140 0.0 1
+ AK4 * Q52 ¢ AJ743 ¢ 852 4HS-2 200 20 1
& T532 & 986 & AQTS a8 3HXS-1 200 -2.0 1
% ¢V BN 4,AKJ64 FOVAN o7 3NN-4 400 6.0 1
N ~~~~~ v 72 N ~~~~~ v AK5432
S ~~~~~ ¢ 963 S ~~~~~ + QT9
E ~~~~~ & K74 E ~~~~~ & J62
W ~~~~~ W ~~~~~
# 19 & AQ97652 2SN2 -110 Mean: 5CXE-4 1100 13.0 1 ||# 20 » QT4 2HN2 -110 Mean: 2HN4 170 10 4
v QT62 4SN-150 210  4SN4 420 50 1 v AKJT7 2HN2 -110 140  2HN3 140 00 3
*AJ Dif: -160 NS:-6 3NS3 400 50 1 ¢ 83 Dif: 0 NS:-1 2HN2 110 1.0 3
: EW:3 3CXE-1 200 00 1 & K72 IMP: 0 EW:1
3SN3 140 20 1 a A7532
2SN2 110 3.0 1 + vs8
4SN-1 50 60 2 ¢ AT54
3SN-1 50 60 1 » QJ6
4SXN-1 4100 7.0 1 » K98
v 642
+ Q97
& AT43
# 21 & K9543 5SS6 -680 Mean: 6SN6 1430 120 1 # 22 s T832 4SN4 -420 Mean: 5SS5 450 1.0 1
vJ 6CN6 -1370 800  6CN6 1370 11.0 1 v AT4 4SN4 -420 430 4SS5 450 1.0 1
Dif: 690 NS:11 5SS6 680 -3.0 1 *5 Dif: 0 NS:0 4SN5 450 1.0 2
& AQJT764 IMP: 12 EW:3 5SN6 680 -3.0 1 & A8542 IMP: 0 EW:0 4Ss4 420 0.0 2
& A6 a T72 4SN6 680 -3.0 2 ||as 54 s Q7 4SN4 420 0.0 4
v QT973 v K854 5CN6 620 5.0 4 ||v K986 — v Q
¢ K9864 * AQ2 ¢ T843 * AKJ972
8 & 532 & KJT » Q976
d*¢VAN 4QJ8 % ¢ VAN 4 AKJ9
N ~~~~~ v A62 N ~~~~~ v J7532
§ ~~~~~ ¢ JT753 S ~~~~~ + Q6
E ~~~~~ & K9 E ~~~~~ &3
W ~~~~~ W ~~~~~
# 23 » Q953 3SS3 -140 Mean: 5CE-2 200 7.0 1 ||#24 » QJ8 4SW4 420 Mean: 4SW4 420 00 5
v KQ752 5DW-1-100 -100 3SS3 140 6.0 1 v T8763 4SW5 450 -430 4SE4 420 0.0 1
¢ J83 Dif: -40 NS:5 2SS3 140 6.0 1 * K4 Dif: -30 NS:-1 4SW5 450 1.0 3
&2 IMP: -1 EW:-6 5DW-1 100 50 1 & K85 IMP: -1 EW:0 4SE5 450 1.0 1
a4 ~ J87 48S-1 <100 0.0 1 & KT76543 a A9
v A98 + v T43 3DW4 4130 1.0 3 ||v A%4 v KQ2
¢ AKT972 * Q4 5SXS-2 -500 -9.0 1 5 ¢ AQT963
& AT9 S » KJ753 5DW6 620 -11.0 1 Q2 aJT
% ¢ VAN 4, AKT62 oI VAN 42
N ~~~~~ v J6 N ~~~~~ v J5
S ~~~~~ + 65 S ~~~~~ ¢ J872
E ~~~~~ & Q864 E ~~~~~ & A97643
W ~~~~~ W ~~~~~




112& < & > AAEEHFEHL 2RI

==> R6

#1: 5 Bk EIE(82.65) #2: 6 =-¥E(TS. 92) #3: 1 BE[R(66.64)

7 NS: B BUEIREHC) -9 1 NS: 57 $B{ZH(BRO) 1 6.55 13.45| Total VP: 56.68 Rank:
EW: EEitt4 S%EH0) -1 EW: BREI B EdmiG(BAC) 9 IMP:| 3 12 7
I o
# 17 # 85 1NN1 -90 Mean: 2SS2 110 1.0 4 ||# 18 » K862 2SE2 110 Mean: 3SE-2 100 60 1
v QJ64 1NN2 -120 90  2NN2 120 1.0 1 v J8 2SE3 140 -140  4HS-1 4100 1.0 1
¢ JT87 Dif: 30 NS:1  1NN2 120 1.0 3 + K6 Dif: -30 NS:0 2SE2 110 1.0 2
» AQJ IMP: 1 EW:0 1NN1 90 00 1 » K9743 IMP: -1 EW:-1 3SE3 140 0.0 1
s T93 s Q72 3NN-1 50 40 1 ||s 53 & AQJT94 2SW3 140 0.0 1
v 953 v AKT8 v 96 I v QT7 2SE3 140 0.0 1
+ AK4 * Q52 ¢ AJ743 ¢ 852 4HS-2 200 20 1
& T532 & 986 & AQTS a8 3HXS-1 200 -2.0 1
% ¢V BN 4,AKJ64 FOVAN o7 3NN-4 400 6.0 1
N ~~~~~ v 72 N ~~~~~ v AK5432
S ~~~~~ ¢ 963 S ~~~~~ + QT9
E ~~~~~ & K74 E ~~~~~ & J62
W ~~~~~ W ~~~~~
# 19 & AQ97652 4SN4 -420 Mean: 5CXE-4 1100 13.0 1 ||# 20 » QT4 2HN3 -140 Mean: 2HN4 170 10 4
v QT62 4SN-150 210  4SN4 420 50 1 v AKJT7 2HN3 -140 140  2HN3 140 00 3
*AJ Dif: -470 NS:-6 3NS3 400 50 1 ¢ 83 Dif: 0 NS:0 2HN2 110 1.0 3
IMP: -10 EW:-5 3CXE-1 200 00 1 & K72 IMP: 0 EW:0
3SN3 140 20 1 a A7532
2SN2 110 3.0 1 + vs8
4SN-1 50 60 2 ¢ AT54
9875 3SN-1 50 6.0 1 » QJ6
4SXN-1 4100 7.0 1 » K98
v 642
+ Q97
& AT43
# 21 & K9543 5CN6 -620 Mean: 6SN6 1430 120 1 # 22 s T832 4SN5 -450 Mean: 5SS5 450 1.0 1
vJ 4SN6 -680 800 6CN6 1370 11.0 1 v AT4 4SN4 -420 430 4SS5 450 1.0 1
Dif: 60 NS:-3 5SS6 680 -3.0 1 *5 Dif: -30 NS:0 4SN5 450 1.0 2
& AQJT764 IMP: 2 EW:5 5SN6 680 -3.0 1 & A8542 IMP: -1 EW:-1 4SS4 420 0.0 2
& A6 a T72 4SN6 680 -3.0 2 ||as 54 s Q7 4SN4 420 0.0 4
v QT973 v K854 5CN6 620 5.0 4 ||v K986 — v Q
¢ K9864 * AQ2 ¢ T843 * AKJ972
8 & 532 & KJT » Q976
d*¢VAN 4QJ8 % ¢ VAN 4 AKJ9
N ~~~~~ v A62 N ~~~~~ v J7532
§ ~~~~~ ¢ JT753 S ~~~~~ + Q6
E ~~~~~ & K9 E ~~~~~ &3
W ~~~~~ W ~~~~~
# 23 » Q953 3DW4 130 Mean: 5CE-2 200 7.0 1 ||#24 » QJ8 4SE4 420 Mean: 4SW4 420 00 5
v KQ752 3DW4 130 -100 3SS3 140 6.0 1 v T8763 4SW4 420 -430 4SE4 420 0.0 1
¢ J83 Dif: 0 NS:-1 2SS3 140 6.0 1 * K4 Dif: 0 NS:0 4SW5 450 1.0 3
&2 IMP: 0 EW:1 5DW-1 100 50 1 & K85 IMP: 0 EW:0 4SE5 450 1.0 1
a4 ~ J87 48S-1 <100 0.0 1 & KT76543 a A9
v A98 + v T43 3DW4 4130 1.0 3 ||v A%4 v KQ2
¢ AKT972 * Q4 5SXS-2 -500 -9.0 1 5 ¢ AQT963
& AT9 S » KJ753 5DW6 620 -11.0 1 Q2 aJT
% ¢ VAN 4, AKT62 oI VAN 42
N ~~~~~ v J6 N ~~~~~ v J5
S ~~~~~ + 65 S ~~~~~ ¢ J872
E ~~~~~ & Q864 E ~~~~~ & A97643
W ~~~~~ W ~~~~~




112& < & > AAEEHFEHL 2RI

==> R6

#1: 5 Bk EIE(82.65) #2: 6 =-¥E(TS. 92) #3: 1 BE[R(66.64)

8 NS: 923 BRHEEEHC) -4 5 NS: BRES) 3RAE(BAO) 14| 4.25 15.75| Total VP: 57.59 Rank:
EW: &g REBEHO) -14 EW: E€# M 2% (BAC) 4 IMP:| 14 : 31 6
S ———————
# 17 # 85 2SS2 -110 Mean: 2SS2 110 1.0 4 ||# 18 » K862 3SE-2 -100 Mean: 3SE-2 100 60 1
v QJ64 2SS2-110 90  2NN2 120 1.0 1 v J8 2SE2 110 -140  4HS-1 4100 1.0 1
¢ JT87 Dif: 0 NS:1 1NN2 120 1.0 3 + K6 Dif: -210 NS:1  2SE2 110 1.0 2
» AQJ IMP: 0 EW:-1 1NN1 90 00 1 » K9743 IMP: -5 EW:-6 3SE3 140 0.0 1
s T93 s Q72 3NN-1 50 40 1 ||s 53 & AQJT94 2SW3 140 0.0 1
v 953 v AKT8 v 96 I v QT7 2SE3 140 0.0 1
+ AK4 * Q52 ¢ AJ743 ¢ 852 4HS-2 200 20 1
& T532 & 986 & AQTS a8 3HXS-1 200 -2.0 1
% ¢V BN 4,AKJ64 FOVAN o7 3NN-4 400 6.0 1
N ~~~~~ v 72 N ~~~~~ v AK5432
S ~~~~~ ¢ 963 S ~~~~~ + QT9
E ~~~~~ & K74 E ~~~~~ & J62
W ~~~~~ W ~~~~~
# 19 & AQ97652 3NS3 -400 Mean: 5CXE-4 1100 13.0 1 2HN4 -170 Mean: 2HN4 170 10 4
v QT62 4SXN-1100 210  4SN4 420 50 1 2HN3 -140 140  2HN3 140 00 3
«AJ Dif: -500 NS:-7 3NS3 400 50 1 Dif: -30 NS:0 2HN2 110 1.0 3
IMP: -11 EW:-5 3CXE-1 200 00 1 IMP: -1 EW:-1
3SN3 140 20 1 a A7532
2SN2 110 3.0 1 vs8
4SN-1 50 60 2 ¢ AT54
9875 3SN-1 50 6.0 1 » QJ6
4SXN-1 4100 7.0 1
# 21 & K9543 5CN6 -620 Mean: 6SN6 1430 120 1 # 22 s T832 4SN4 -420 Mean: 5SS5 450 1.0 1
vJ 6SN6 -1430 800  6CN6 1370 11.0 1 v AT4 4SS5 -450 430 4SS5 450 1.0 1
Dif: 810 NS:12 5SS6 680 -3.0 1 *5 Dif: 30 NS:1 4SN5 450 1.0 2
& AQJT764 IMP: 13 EW:5 5SN6 680 -3.0 1 & A8542 IMP: 1 EW:0 4ss4 420 0.0 2
& A6 a T72 4SN6 680 -3.0 2 ||as 54 s Q7 4SN4 420 0.0 4
v QT973 v K854 5CN6 620 5.0 4 ||v K986 — v Q
¢ K9864 * AQ2 ¢ T843 * AKJ972
8 & 532 & KJT » Q976
d*¢VAN 4QJ8 % ¢ VAN 4 AKJ9
N ~~~~~ v A62 N ~~~~~ v J7532
§ ~~~~~ ¢ JT753 S ~~~~~ + Q6
E ~~~~~ & K9 E ~~~~~ &3
W ~~~~~ W ~~~~~
# 23 » Q953 2SS3 -140 Mean: 5CE-2 200 7.0 1 ||#24 » QJ8 4SW4 420 Mean: 4SW4 420 00 5
v KQ752 5DW6 620 -100  3SS3 140 6.0 1 v T8763 4SW5 450 -430 4SE4 420 0.0 1
¢ J83 Dif: -760 NS:-11 2SS3 140 6.0 1 * K4 Dif: -30 NS:-1 4SW5 450 1.0 3
&2 IMP: -13 EW:-6 5DW-1 100 50 1 & K85 IMP: -1 EW:0 4SE5 450 1.0 1
a4 ~ J87 48S-1 <100 0.0 1 & KT76543 a A9
v A98 + v T43 3DW4 4130 1.0 3 ||v A%4 v KQ2
¢ AKT972 * Q4 5SXS-2 -500 -9.0 1 5 ¢ AQT963
& AT9 S » KJ753 5DW6 620 -11.0 1 Q2 aJT
% ¢ VAN 4, AKT62 oI VAN 42
N ~~~~~ v J6 N ~~~~~ v J5
S ~~~~~ + 65 S ~~~~~ ¢ J872
E ~~~~~ & Q864 E ~~~~~ & A97643
W ~~~~~ W ~~~~~




112& < & > AAEEHFEHL 2RI

==> R6

#1: 5 Bk EIE(82.65) #2: 6 =-¥E(TS. 92) #3: 1 BE[R(66.64)

9 NS: ZHHIE 5REEHEAC) -14 2 NS: EEH 2ImEBIo) -1 8.73 11.27 | Total VP: 66.06 Rank:
EW: E3h78 EBEEE0) 11 EW: 8lfZ% 5Ei5(BAC) 14 IMP:| 8 1 4
I o
# 17 # 85 2SS2 -110 Mean: 2SS2 110 1.0 4 ||# 18 » K862 3SE3 140 Mean: 3SE-2 100 60 1
v QJ64 1NN2 -120 90  2NN2 120 1.0 1 v J8 3HXS-1200 -140  4HS-1 4100 1.0 1
¢ JT87 Dif: 10 NS:1  1NN2 120 1.0 3 + K6 Dif: -60 NS:-2 2SE2 110 1.0 2
» AQJ IMP: 0 EW:-1 1NN1 90 00 1 » K9743 IMP: -2 EW:0 3SE3 140 0.0 1
s T93 s Q72 3NN-1 50 40 1 ||s 53 & AQJT94 2SW3 140 0.0 1
v 953 v AKT8 v 96 I v QT7 2SE3 140 0.0 1
+ AK4 * Q52 ¢ AJ743 ¢ 852 4HS-2 200 20 1
& T532 & 986 & AQTS a8 3HXS-1 200 -2.0 1
% ¢V BN 4,AKJ64 FOVAN o7 3NN-4 400 6.0 1
N ~~~~~ v 72 N ~~~~~ v AK5432
S ~~~~~ ¢ 963 S ~~~~~ + QT9
E ~~~~~ & K74 E ~~~~~ & J62
W ~~~~~ W ~~~~~
# 19 & AQ97652 3SN-150 Mean: 5CXE-4 1100 13.0 1 [|# 20 » QT4 2HN4 -170 Mean: 2HN4 170 10 4
v QT62 3SN3 -140 210  4SN4 420 50 1 v AKJT7 2HN4 -170 140  2HN3 140 00 3
*AJ Dif: 190 NS:-2 3NS3 400 50 1 ¢ 83 Dif: 0 NS:1 2HN2 110 1.0 3
:5 EW:6 3CXE-1 200 00 1 & K72 IMP: 0 EW:-1
3SN3 140 20 1 a A7532
2SN2 110 3.0 1 + vs8
4SN-1 50 60 2 ¢ AT54
3SN-1 50 60 1 » QJ6
4SXN-1 4100 7.0 1 » K98
v 642
+ Q97
& AT43
# 21 & K9543 5CN6 -620 Mean: 6SN6 1430 120 1 # 22 s T832 4SS4 -420 Mean: 5SS5 450 1.0 1
vJ 4SN6 -680 800 6CN6 1370 11.0 1 v AT4 5SS5-450 430 4SS5 450 1.0 1
3 Dif: 60 NS:-3 5SS6 680 -3.0 1 *5 Dif: 30 NS:1 4SN5 450 1.0 2
& AQJT764 IMP: 2 EW:5 5SN6 680 -3.0 1 & A8542 IMP: 1 EW:0 4ss4 420 0.0 2
& A6 a T72 4SN6 680 -3.0 2 ||as 54 s Q7 4SN4 420 0.0 4
v QT973 v K854 5CN6 620 5.0 4 ||v K986 — v Q
¢ K9864 * AQ2 ¢ T843 * AKJ972
8 & 532 & KJT » Q976
d*¢VAN 4QJ8 % ¢ VAN 4 AKJ9
N ~~~~~ v A62 N ~~~~~ v J7532
§ ~~~~~ ¢ JT753 S ~~~~~ + Q6
E ~~~~~ & K9 E ~~~~~ &3
W ~~~~~ W ~~~~~
# 23 » Q953 3DW4 130 Mean: 5CE-2 200 7.0 1 ||#24 » QJ8 4SE5 450 Mean: 4SW4 420 00 5
v KQ752 5SXS-2 500 -100 3SS3 140 6.0 1 v T8763 4SW5 450 -430 4SE4 420 0.0 1
¢ J83 Dif: -370 NsS:-9 2SS3 140 6.0 1 * K4 Dif: 0 NS:-1 4SW5 450 1.0 3
&2 IMP: -9 EW:1 5DW-1 100 50 1 & K85 IMP: 0 EW:1 4SE5 450 1.0 1
a4 ~ J87 48S-1 <100 0.0 1 & KT76543 a A9
v A98 + v T43 3DW4 4130 1.0 3 ||v A%4 v KQ2
¢ AKT972 * Q4 5SXS-2 -500 -9.0 1 5 ¢ AQT963
& AT9 S » KJ753 5DW6 620 -11.0 1 Q2 aJT
% ¢ VAN 4, AKT62 oI VAN 42
N ~~~~~ v J6 N ~~~~~ v J5
S ~~~~~ + 65 S ~~~~~ ¢ J872
E ~~~~~ & Q864 E ~~~~~ & A97643
W ~~~~~ W ~~~~~




112& < & > AAEEHFEHL 2RI

==> R6

#1: 5 Bk EIE(82.65) #2: 6 =-¥E(TS. 92) #3: 1 BE[R(66.64)

1 O NS: $1E 38 =LEEAC) 17 4 NS: BRIERE F1E3%(BRO) -8 17.50 : 2.50 Total VP: 36.13 Rank:
EW: 5REH FXFEEEO) 8 EW: iti#E4 BWIRmE(BAC) 1 IMP:| 29 4 10
I
# 17 # 85 3NN-1 50 Mean: 2SS2 110 1.0 4 ||# 18 » K862 4HS-2 200 Mean: 3SE-2 100 60 1
v QJ64 2SS2-110 90  2NN2 120 1.0 1 v J8 4HS-1100 -140  4HS-1 4100 1.0 1
¢ JT87 Dif: 160 NS:1  1NN2 120 1.0 3 + K6 Dif: 100 NS:1 2SE2 110 1.0 2
» AQJ IMP: 4 EW:4 1NN1 90 00 1 » K9743 IMP: 3 EW:2 3SE3 140 0.0 1
s T93 s Q72 3NN-1 50 40 1 ||s 53 & AQJT94 2SW3 140 0.0 1
v 953 v AKT8 v 96 I v QT7 2SE3 140 0.0 1
+ AK4 * Q52 ¢ AJ743 ¢ 852 4HS-2 200 20 1
& T532 & 986 & AQTS a8 3HXS-1 200 -2.0 1
% ¢V BN 4,AKJ64 FOVAN o7 3NN-4 400 6.0 1
N ~~~~~ v 72 N ~~~~~ v AK5432
S ~~~~~ ¢ 963 S ~~~~~ + QT9
E ~~~~~ & K74 E ~~~~~ & J62
W ~~~~~ W ~~~~~
# 19 & AQ97652 3CXE-1-200 Mean: 5CXE-4 1100 13.0 1 ||# 20 » QT4 2HN4 -170 Mean: 2HN4 170 1.0 4
v QT62 5CXE-4 -1100 210  4SN4 420 50 1 v AKJT7 2HN2 -110 140  2HN3 140 00 3
*AJ Dif: 900 NS:13 3NS3 400 50 1 ¢ 83 Dif: -60 NS:-1 2HN2 110 1.0 3
» IMP: 14 EW:0 3CXE-1 200 00 1 & K72 IMP: -2 EW:-1
s KJT a8 3SN3 140 20 1 a A7532
v K7543 v AJ 2SN2 110 -3.0 1 + v8
+ Q52 ¢ T87 4SN-1 50 60 2 ¢ AT54
62 a AJT9875 3SN-1 50 6.0 1 » QJ6
4SXN-1 4100 7.0 1 » K98
v 642
+ Q97
& AT43
# 21 & K9543 5SN6 -680 Mean: 6SN6 1430 120 1 # 22 s T832 4SS4 -420 Mean: 5SS5 450 1.0 1
vJ 5CN6 -620 800 6CN6 1370 11.0 1 v AT4 4SN5 -450 430 4SS5 450 1.0 1
Dif: -60 NS:-5 5SS6 680 -3.0 1 *5 Dif: 30 NS:1 4SN5 450 1.0 2
& AQJT764 IMP: -2 EW:3 5SN6 680 -3.0 1 & A8542 IMP: 1 EW:0 4ss4 420 0.0 2
s A6 a T72 4SN6 680 -3.0 2 ||as 54 s Q7 4SN4 420 0.0 4
v QT973 v K854 5CN6 620 5.0 4 ||v K986 — v Q
¢ K9864 * AQ2 ¢ T843 * AKJ972
8 & 532 & KJT » Q976
*¢VAN ,QJ8 % ¢ VAN 4 AKJ9
N ~~~~~ v A62 N ~~~~~ v J7532
§ ~~~~~ ¢ JT753 S ~~~~~ + Q6
E ~~~~~ & K9 E ~~~~~ &3
W ~~~~~ W ~~~~~
# 23 » Q953 4SS-1 100 Mean: 5CE-2 200 7.0 1 ||#24 » QJ8 4SW4 420 Mean: 4SW4 420 00 5
v KQ752 5CE-2-200 -100 3SS3 140 6.0 1 v T8763 4SW4 420 -430 4SE4 420 0.0 1
¢ J83 Dif: 300 NsS:7 2SS3 140 6.0 1 * K4 Dif: 0 NS:0 4SW5 450 1.0 3
»2 IMP: 7 EW:0 5DW-1 100 50 1 & K85 IMP: 0 EW:0 4SE5 450 1.0 1
a4 ~ J87 48S-1 <100 0.0 1 & KT76543 a A9
v A98 + v T43 3DW4 4130 1.0 3 ||v A%4 v KQ2
¢ AKT972 * Q4 5SXS-2 -500 -9.0 1 5 ¢ AQT963
& AT9 S » KJ753 5DW6 620 -11.0 1 Q2 aJT
% ¢ VAN 4, AKT62 oI VAN 42
N ~~~~~ v J6 N ~~~~~ v J5
S ~~~~~ + 65 S ~~~~~ ¢ J872
E ~~~~~ & Q864 E ~~~~~ & A97643
W ~~~~~ W ~ ~~~~




